y=(x-1+3>+4+a
=(x+2)2+4+a

=x2+4x+8+4a
y BHO| 84 a=3a O|E2
2a = 8 o[t}

kA a = 4 o]},




2.

yZb2 o vlEsta, x =34, y = 3 9]

y=ax? o B2 el o), o 9 groe g
1 1

@ 0  : o; ®

.

W =




3. y=-2%ft4xtk-19 THT7} x ZT AR T2 F HoA T
FIet k kel {91S 7ohi?

O k<-1 @ -1<k<1 ® k<-1

@)k > -1 ® 0<k<1

—2x% +4x+ k-1

—2(x-1)24+k+1

BAHO] (1, k+1) 9l 912 BEESH Jejmo|ng x 3t A7
£ F HolA Tud

Lk+1>0, k>-1

y
y




ths LE B A0l A ROl oy g
Ay =x Py = -2 el -1 < ©
a<0dd,y=—ax? 2 I gt
A&7

x
e @o ® ® ; ®
@ @ ® @ ) ®
0<-a<1°]B=z phe} x = Atolof] gle 225 2ted ©

ole}.




Y

—3/ 0) \1 z

@abc>0 @ a+b+c>0

® 9a-3b+c<0 @ a-b+c<da+2b+c

(@)b2 —4dac >0
D \

2 B2 ZEBAH0|BR <0, 0] y &9 &0 glong
ab>0,b<0,ydHo] FFo|BZ >0
@ abe > 0

@Qx=1¥99, a+b+c=0
@x=-349",92-3b+c=0

@Dx=-19", a-b+c>00°22, x=2L W 4a+2b+c<0
OlER g+b-c>4a+2+c¢

® x =1o] wHdo] T o] ER b2 — dac > 0




